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Outline

� Importing the dataset
� Regression analysis in Microfit
� Project time



Import Dataset

� Use MS Excel 
� Important to keep format

� First column: ID number/Year
� First row: Variable name

� Second row: Variable description
� Save as .csv-file

� Import to Microfit (using MEAP93.csv)
� Save as .fit file 



Tasks 

� Estimate the model
Math10 = beta0 + beta1*log(expend) + 

beta2*lnchprg + u

� Report:
� The equation
� Sample size, R-squared

� Are the slope coefficients what you 
expected?



Tasks 



Solution

The signs of the estimated slopes imply that 
more spending increases the pass rate 
(holding lnchprg fixed) and a higher poverty 
rate (proxied well by lnchprg) decreases the 
pass rate (holding spending fixed).  These are 
what we expect.

� 10 20.36  6.23 log( )  .305 math expend lnchprg= − + −  

n  =  408,   R2  =  .180. 



Tasks

� What do you make of the intercept?
� Does it make sense to set the two 

variables to zero?



Solution

� As usual, the estimated intercept is the 
predicted value of the dependent variable 
when all regressors are set to zero.  

� Setting lnchprg = 0 makes sense, as there are 
schools with low poverty rates.  Setting 
log(expend) = 0 does not make sense, 
because it is the same as setting expend = 1, 
and spending is measured in dollars per 
student.  Presumably this is well outside any 
sensible range.  Not surprisingly, the 
prediction of a  pass rate is nonsensical. 



Tasks

� Run the simple regression of math10 on 
log(expend)? Compare the slope 
coefficients with the previous result!



Tasks



Solution

� The estimated spending effect is larger 
than it was in part (i) – almost double. 

� 10 69.34  11.16 log( )math expend= − +
n =  408,   R2  =  .030



Tasks

� Find the correlation between lexpend =
log(expend) and lnchprg. Does the sign 
make sense to you? Relate to previous 
question!

� TYPE in command line :                    
COR   LEXPEND  LNCHPRG 



Tasks



Solution

� The sample correlation between lexpend
and lnchprg is about -0.19, which means 
that, on average, high schools with 
poorer students spent less per student. 
This makes sense, especially in 1993 in 
Michigan, where school funding was 
essentially determined by local property 
tax collections.



Solution

� Because Corr(x1,x2) < 0, the simple 
regression estimate is larger than the 
multiple regression estimate. 

� Intuitively, failing to account for the 
poverty rate leads to an overestimate of 
the effect of spending (positive omitted 
variable bias).


